

On Entry 8 of Chapter 15 of Ramanujan's Notebook II

by
DIETER KLUSCH (Kiel)

1. Sections 1–7 of Chapter 15 of Ramanujan's second notebook [9] are mainly devoted to asymptotic expansions of series [3]. At the beginning of Section 8 Ramanujan indicates a method of calculating the error in the asymptotic expansion

$$(1.1) \quad \sum_{n \geq 1} (e^{n^2} - 1)^{-1} = R(\tau) + o(1) \quad (\tau \rightarrow 0+)$$

where

$$(1.2) \quad R(\tau) = \frac{\pi^2}{6\tau} + \frac{1}{2} \sqrt{\frac{\pi}{\tau}} \zeta\left(\frac{1}{2}\right) + \frac{1}{4}.$$

He gives the hint that the identities ([4], [6])

$$(1.3) \quad \frac{1}{2} \int_0^{\infty} \{\vartheta_3(0|\tau) - 1\} \cos a\tau d\tau = \sum_{n \geq 1} \frac{n^2}{a^2 + n^4} \\ = \frac{\pi}{2\sqrt{2a}} \frac{\sinh(\pi\sqrt{2a}) - \sin(\pi\sqrt{2a})}{\cosh(\pi\sqrt{2a}) - \cos(\pi\sqrt{2a})},$$

where $a > 0$ and $\vartheta_3(0|\tau)$ is Jacobi's elliptic theta function of zero argument, can be used to prove the following exact formula extending (1.1):

ENTRY 8: If $\tau > 0$, then

$$(A) \quad \sum_{n \geq 1} (e^{n^2} - 1)^{-1} \\ = R(\tau) + \sqrt{\frac{\pi}{2\tau}} \sum_{n \geq 1} n^{-1/2} \left\{ \frac{\cos(\pi/4 + 2\pi\sqrt{\pi n/\tau}) - e^{-2\pi\sqrt{\pi n/\tau}} \cos(\pi/4)}{\cosh(2\pi\sqrt{\pi n/\tau}) - \cos(2\pi\sqrt{\pi n/\tau})} \right\}.$$

That such an exact formula exists is 'truly remarkable' ([4], p. 124). B. C. Berndt ([2], pp. 50–51) called (A) 'one of the most interesting and incredible formulas in the notebooks' representing an analogue of the well-known transformation property of $\vartheta_3(0|\tau)$.

Entry 8 was proved by B. C. Berndt and R. J. Evans in [4]. Their method of proof is mainly based on Poisson's summation formula, the transformation of $\mathfrak{D}_3(0|\tau)$ and the equations (1.3).

It may be surprising that there is an elegant alternative exact formula of type (A) which we will prove and generalize in the present small note.

2. Note that (A) can be rewritten in the form ([4], p. 125)

$$(A) \quad \sum_{n \geq 1} (e^{n^2\tau} - 1)^{-1} \\ = R(\tau) + \frac{1}{2} \sqrt{\frac{\pi}{\tau}} \sum_{n \geq 1} n^{-1/2} \left\{ \frac{\sinh(2\pi\sqrt{n\pi/\tau}) - \sin(2\pi\sqrt{n\pi/\tau})}{\cosh(2\pi\sqrt{n\pi/\tau}) - \cos(2\pi\sqrt{n\pi/\tau})} - 1 \right\}.$$

We prove: If $\tau > 0$, then

$$(B) \quad \sum_{n \geq 1} (e^{n^2\tau} - 1)^{-1} = R(\tau) + \frac{1}{4} \sqrt{\frac{\tau}{\pi}} \sum_{n \geq 1} n^{-3/2} \left\{ \frac{\sinh(\sqrt{\pi\tau/n}) - \sin(\sqrt{\pi\tau/n})}{\cosh(\sqrt{\pi\tau/n}) - \cos(\sqrt{\pi\tau/n})} \right\}.$$

Remark. Obviously (A') and (B) yield a new deep transformation formula for the infinite series on the right.

Proof of (B). Instead of the first equality in (1.3) we use ([11], p. 24)

$$\Gamma(s)\zeta(s) = \int_0^\infty x^{s-1} \left\{ \frac{1}{e^x - 1} - \frac{1}{x} + \frac{1}{2} \right\} dx,$$

valid for $-1 < \operatorname{Re} s = \sigma < 0$. Then the partial fractional expansion

$$(e^x - 1)^{-1} = \frac{1}{x} - \frac{1}{2} + 2x \sum_{n \geq 1} \{4\pi^2 n^2 + x^2\}^{-1} \quad (x \in \mathbf{R}^+)$$

and Mellin's inversion theorem yield

$$2 \sum_{n \geq 1} x \{4\pi^2 n^2 + x^2\}^{-1} = \frac{1}{2\pi i} \int_{(c)} \Gamma(s)\zeta(s)x^{-s} ds$$

where $x \in \mathbf{R}^+$, (c) denoting the line $(c - i\infty, c + i\infty)$, $c \in (-1, 0)$. Thus introducing the real parameter $\tau \in \mathbf{R}^+$

$$(2.1) \quad 2\tau \sum_{n \geq 1} x^2 \{4\pi^2 n^2 + x^4 \tau^2\}^{-1} = \frac{1}{2\pi i} \int_{(c)} \Gamma(s)\zeta(s)x^{-2s}\tau^{-s} ds.$$

Observe the absolute convergence of $\sum_{k \geq 1} k^{2s}$ for $\operatorname{Re} s < -1/2$. Then we get by (2.1)

$$(2.2) \quad \omega(\tau) = 2\tau \sum_{m \geq 1} \sum_{n \geq 1} \frac{m^2}{(4\pi^2 n^2)m^4 + \tau^2} = I_c(\tau)$$

with

$$(2.3) \quad I_c(\tau) = \frac{1}{2\pi i} \int_{(c)} \Gamma(s)\zeta(s)\zeta(2s)\tau^{-s} ds$$

where $c \in (-1, -1/2)$.

The inversion of summation and integration is justified by the asymptotic equality

$$(2.4) \quad |\Gamma(\sigma + it)| \sim (2\pi)^{1/2} e^{-\pi|t|/2} |t|^{\sigma-1/2} \quad (|t| \rightarrow \infty)$$

uniformly in any finite σ -interval of \mathbf{R} , and by

$$(2.5) \quad \zeta(s) = O(|t|^\mu) \quad (|t| \rightarrow \infty)$$

in any half plane $\sigma \geq \sigma_0$ with constant $\mu = \mu(\sigma_0)$.

Equation (2.2) is the key. By absolute convergence we can invert the order of summation on the left of (2.2) to obtain with the right equality of (1.3)

$$(2.6) \quad \omega(\tau) = 2\tau \sum_{n \geq 1} \frac{1}{4\pi^2 n^2} \sum_{m \geq 1} \frac{m^2}{m^4 + (\tau/2\pi n)^2} \\ = \frac{1}{4} \sqrt{\frac{\tau}{\pi}} \sum_{n \geq 1} n^{-3/2} \left\{ \frac{\sinh(\sqrt{\pi\tau/n}) - \sin(\sqrt{\pi\tau/n})}{\cosh(\sqrt{\pi\tau/n}) - \cos(\sqrt{\pi\tau/n})} \right\}.$$

Now consider $I_c(\tau)$. Note that the integrand

$$(2.7) \quad \psi(s) = \Gamma(s)\zeta(s)\zeta(2s)\tau^{-s} \quad (\tau > 0)$$

is meromorphic in \mathbf{C} with the only simple poles at $s = 0, 1/2, 1$. The simple poles of $\Gamma(s)$ at $a = -n$ ($n \in \mathbf{N}$) are cancelled by the simple zeros of $\zeta(s)$ at $s = -2n$ ($n \in \mathbf{N}$). The sum of residues is (1.2). Thus by (2.4) and (2.5) the Phragmén-Lindelöf principle and Cauchy's theorem yield for (2.3)

$$(2.8) \quad I_{c'}(\tau) = R(\tau) + I_c(\tau)$$

where $c' > 1$, $c \in (-1, -1/2)$.

But for $c' > 1$, $x \in \mathbf{R}^+$ we have the inverse Mellin transform

$$(2.9) \quad (e^x - 1)^{-1} = \frac{1}{2\pi i} \int_{(c')} \Gamma(s)\zeta(s)x^{-s} ds.$$

Hence by (2.4) and (2.7) we get for $\tau > 0$, $c' > 1$

$$(2.10) \quad \sum_{n \geq 1} (e^{n^2\tau} - 1)^{-1} = \frac{1}{2\pi i} \int_{(c')} \psi(s) ds = I_{c'}(\tau).$$

Thus formula (B) is proved.

3. We turn to a generalization of (B). Let Ω denote the vector space of all arithmetical functions $f: N \rightarrow C$. For $f, g \in \Omega$ and $q, n \in N$ define ([1], §8.3)

$$(3.1) \quad s_q(n) = \sum_{d|(n,q)} f(d)g(q/d).$$

Then $s_q(n)$ is periodic mod q and represents a generalization of Ramanujan's exponential sum [10]

$$(3.2) \quad c_q(n) = \sum_{\substack{1 \leq h \leq q \\ (h,q)=1}} \exp\{2\pi i h n/q\} = \sum_{d|(n,q)} d\mu(q/d).$$

We prove: If $\tau > 0$ and $s_q(n)$ is defined by (3.1), then

$$(C) \quad \sum_{n \geq 1} s_q(n)(e^{n^2\tau} - 1)^{-1} = \sum_{d|q} f(d)g(q/d)R(d^2\tau) + \frac{1}{4} \sqrt{\frac{\tau}{\pi}} \sum_{d|q} f(d)g(q/d)d \sum_{n \geq 1} n^{-3/2} \left\{ \frac{\sinh(d\sqrt{\tau\pi/n}) - \sin(d\sqrt{\tau\pi/n})}{\cosh(d\sqrt{\tau\pi/n}) - \cos(d\sqrt{\tau\pi/n})} \right\}.$$

Remarks. (i) Take $q = f(1) = g(1) = 1$ in (3.1). Thus (C) contains (B).

(ii) (C) may be regarded as the absolutely convergent generalized Mellin-Ramanujan expansion for the function on the right of (C) (see [7], [8]).

Proof of (C). We require a generalization of the Ramanujan-Crum expansion ([11], pp. 10-11; [5])

$$(3.3) \quad \sum_{n \geq 1} c_q(n)n^{-s} = \zeta(s) \sum_{d|q} \mu(q/d)d^{1-s} \quad (\text{Re } s > 1).$$

This is given by ([8], (3.2))

$$(3.4) \quad \sum_{n \geq 1} s_q(n)n^{-s} = \zeta(s) \sum_{d|q} f(d)g(q/d)d^{-s} \quad (\text{Re } s > 1).$$

Since $s_q(n)$ is periodic mod q the series on the left of (3.4) converges absolutely for $\text{Re } s > 1$. Thus (2.7), (2.9) and (3.4) yield for $q \in N$ and $c' > 1$

$$(3.5) \quad \sum_{n \geq 1} s_q(n)(e^{n^2\tau} - 1)^{-1} = \frac{1}{2\pi i} \int_{(c')} \psi(s) \sum_{d|q} f(d)g(q/d)d^{-2s} ds = \sum_{d|q} f(d)g(q/d)I_c(d^2\tau).$$

By (2.8) we get

$$(3.6) \quad \sum_{n \geq 1} s_q(n)(e^{n^2\tau} - 1)^{-1} = \sum_{d|q} f(d)g(q/d) \{R(d^2\tau) + I_c(d^2\tau)\}$$

with $c \in (-1, -1/2)$ and R defined by (1.2).

By (2.2) and (2.6) we have

$$(3.7) \quad \sum_{d|q} f(d)g(q/d)\omega(d^2\tau) = \frac{1}{4} \sqrt{\frac{\tau}{\pi}} \sum_{d|q} f(d)g(q/d)d \sum_{n \geq 1} n^{-3/2} \left\{ \frac{\sinh(d\sqrt{\tau\pi/n}) - \sin(d\sqrt{\tau\pi/n})}{\cosh(d\sqrt{\tau\pi/n}) - \cos(d\sqrt{\tau\pi/n})} \right\}.$$

Thus by (3.5)-(3.7) formula (C) follows immediately.

From the great variety of possible choices of the functions $f, g \in \Omega$ in (C) we here only mention briefly the interesting case when $s_q(n)$ reduces to Ramanujan's exponential sum (3.2), i.e. when $f(d) = d$ and $g(d) = \mu(d)$ in (3.1). Observe that Euler's totient function $\varphi(\cdot)$ is given in terms of the Möbius μ -function by ([1], p. 26)

$$\varphi(q) = \sum_{d|q} d\mu(q/d) \quad (q \in N).$$

Thus (C) yields the exact formula

$$(D) \quad \sum_{n \geq 1} c_q(n)(e^{n^2\tau} - 1)^{-1} = \frac{1}{4} \varphi(q) + \frac{1}{2} \sqrt{\frac{\tau}{\pi}} \zeta\left(\frac{1}{2}\right) \sum_{d|q} \mu(d) + \frac{\pi^2}{6\tau} \sum_{d|q} d^{-1} \mu\left(\frac{q}{d}\right) + \frac{1}{4} \sqrt{\frac{\tau}{\pi}} \sum_{d|q} d^{1/2} \mu\left(\frac{q}{d}\right) \sum_{n \geq 1} \left(\frac{d}{n}\right)^{3/2} \left\{ \frac{\sinh(d\sqrt{\tau\pi/n}) - \sin(d\sqrt{\tau\pi/n})}{\cosh(d\sqrt{\tau\pi/n}) - \cos(d\sqrt{\tau\pi/n})} \right\}.$$

This is an ordinary Mellin-Ramanujan expansion in the sense of [7]. For $q = 1$, (D) yields again (B). For $q = 2$ we have $c_2(n) = (-1)^n$. Since

$$\sum_{d|q} \mu(d) = \begin{cases} 1, & q = 1, \\ 0, & q > 1, \end{cases}$$

(D) reduces to the exact formula for the alternating case of (B):

$$(B') \quad \sum_{n \geq 1} (-1)^n (e^{n^2\tau} - 1)^{-1} = \frac{1}{4} - \frac{\pi^2}{12\tau} + \frac{1}{4} \sqrt{\frac{\tau}{\pi}} \sum_{d|2} d^{1/2} \mu\left(\frac{2}{d}\right) \sum_{n \geq 1} \left(\frac{d}{n}\right)^{3/2} \left\{ \frac{\sinh(d\sqrt{\tau\pi/n}) - \sin(d\sqrt{\tau\pi/n})}{\cosh(d\sqrt{\tau\pi/n}) - \cos(d\sqrt{\tau\pi/n})} \right\}.$$

References

- [1] T. M. Apostol, *An Introduction to Analytic Number Theory*, Springer, New York-Heidelberg-Berlin 1976.
- [2] B. C. Berndt, *Remarks on some of Ramanujan's number theoretical discoveries found in his second notebook*, Lecture Notes in Math. 1122, Springer, 1985, 47-55.
- [3] B. C. Berndt and R. J. Evans, *Extensions of asymptotic expansions from Chapter 15 of Ramanujan's second notebook*, J. Reine Angew. Math. 361 (1985), 118-134.

- [4] B. C. Berndt and R. J. Evans, *Chapter 15 of Ramanujan's Second Notebook: Part 2, Modular forms*, Acta Arith. 47 (1986), 123–142.
- [5] M. M. Crum, *On some Dirichlet series*, J. London Math. Soc. 15 (1940), 10–15.
- [6] J. W. L. Glaisher, *On the summation by definite integrals of geometrical series of the second and higher orders*, Quart. J. Math. (Oxford) 11 (1871), 328–343.
- [7] D. Klusch, *On Mellin–Ramanujan expansions*, Acta Arith. 52 (1989), 283–292.
- [8] —, *On generalized Mellin–Ramanujan expansions*, submitted for publication.
- [9] S. Ramanujan, *Notebooks* (2 volumes), Tata Institute of Fundamental Research, Bombay 1957.
- [10] —, *On certain trigonometrical sums and their applications to number theory*, Trans. Cambridge Phil. Soc. 22 (1918), 259–276.
- [11] E. C. Titchmarsh, *The Theory of the Riemann Zeta-function*, Oxford 1951.

Received on 11.7.1989
and in revised form on 24.10.1989

(1953)

Constructions of $B_h[g]$ -sequences

by

TORLEIV KLØVE (Bergen)

1. Introduction. A (finite) $B_h[g]$ -sequence is a sequence $\bar{a} = (a_0, a_1, a_2, \dots, a_J)$ of integers such that no integer has more than g representations as sums of h summands from \bar{a} . A survey of results on $B_h[1]$ -sequences (up to 1966) is given in Chapter II of [5]. Recent papers on $B_h[g]$ -sequences include [4].

Without loss of generality we may assume that

$$0 = a_0 \leq a_1 \leq a_2 \leq \dots \leq a_J.$$

Assuming that a sum contains the summand a_j x_j times, the sum may be written as $\sum_{j=0}^J x_j a_j$ where $\sum_{j=0}^J x_j = h$. Since $a_0 = 0$, we have $\sum_{j=0}^J x_j a_j = \sum_{j=1}^J x_j a_j$. Further $\sum_{j=1}^J x_j = h - x_0 \leq h$. Hence we get the following precise definition of a $B(g, h, J)$ -sequence ($B_h[g]$ -sequence with $J+1$ elements): Let

$$C(h, J) = \{\bar{x} = (x_1, x_2, \dots, x_J) \mid x_j \text{ non-negative integers and } \sum_{j=1}^J x_j \leq h\}.$$

Further, let

$$D_k = D_k(\bar{a}) = \{\bar{x} \in C(h, J) \mid \sum_{j=1}^J x_j a_j = k\}.$$

The sequence $\bar{a} = (a_0, a_1, a_2, \dots, a_J)$ is a $B(g, h, J)$ -sequence if $|D_k| \leq g$ for all integers $k \geq 0$.

Let

$$N(g, h, J) = \min \{a_j \mid (a_0, a_1, a_2, \dots, a_J) \text{ is a } B(g, h, J)\text{-sequence}\}.$$

A $B(g, h, J)$ -sequence $(a_0, a_1, a_2, \dots, a_J)$ where $a_j = N(g, h, J)$ is called *optimal*.

The main emphasis in the published literature has been on the behaviour of $N(g, h, J)$ for fixed g and h and varying J , in particular the asymptotic behaviour when $J \rightarrow \infty$. In this paper we consider mainly the situation with varying h , in particular the asymptotic behaviour when $h \rightarrow \infty$.

It is easy to see that $(0, 1, h+1, (h+1)^2, \dots, (h+1)^{J-1})$ is a $B(1, h, J)$ -sequence. Hence

$$(1) \quad N(g, h, J) \leq N(1, h, J) \leq (h+1)^{J-1}.$$